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1
1 2
.(30%) 2005 12 31 Squarepants
2005
1.( 2006 7 1 Squarepants  $120,000
$3,200 $2,800( )
2.( 20056 7 1 Squarepants $20,000
$50,000 2005 1 1 $18,000 2005
$4,500
3( 2006 8 1 Squarepants  $3,000 $2,100(
)
4.( )2005 10 1 Roman Squarepants
$6,000(Squarepants )
5.( )Squarepants $54,000
6.( )1 $50,000 12% 2004
1 2005 12 31
7.( 2006 9 1 6 $3,600
8.( 2006 7 1 $6,500,000 50
$5000.,000
9.( 2006 7 1 5
$6,000
10.( )2005 12 31 $2,200
11.( 2005 12 1 3 $6,000
12.( ) $900,000 2005 3
12% 3 1
1) @)
(10%)( ) Kansas Lawrence Agricultural Genetic
2006 5 31
$6,781.50 Lawrence
5/31 6,804.60




2.5 12 $836.15

$846.15 Agricultural Genetics
3.5 31 $315.25 $936.15
4. 5 18 1181 $685 M.Datz
5 Agricultural Genetics
$658
5. 5 31 Agricultural Genetics $2,000
$80 $20
6. Bohr Fred Mertz
$600 Agricultural Genetics
7.5 31 $734 Tyler Gricius
Agricultural Genetics
(129%)( )Greeve 2005 1 1
( $10)$400,000 $500,000
$100,000 2005
M3 1 $12 5000 (26 1 $15 1,000
(39 1 $11 2000 (412 1 $10 1,000
Greeve 2005 $60,000
(1) 2005 12 31
) 2005 12 31 ©)
( )
1.(10%) 2005/1/1 (face value)$2,000,000
10% 8%
2005/1/1
2.(8%)Nike 2006 12 31 $3,880,000 $4,000,000
9% 2006 12 31 6
30 12 31
(3)2005/12/31 (b)2006/6/30 (b)Nike

2004/12/31 $4,060,000 Nike



(15%) ( ) Creative Works 12 31
Creative Works 12 31
2004 2005 (1)
$42,000
$45,000 $38,000 2
52,000 49,500 ©) $24,000
142,000 153,450 (4) 2005
21,000 15,780 $38000
130,000 100000 | $95,000
155,000 228,000 $22,000
i (35,000) (45,000) $10,000
200,000 200,000 $8,100
i (40,000) 60000) |©
$670,000 $679,730 $1 50,000
(7) 2005
$40,000 $35,730 $420,000
300,000 250,000 2005
(  $1)| 150,000 200,000 (
180,000 194,000 $73,900)
$670,000 $79,730

MULTIPLE CHOICE QUESTIONS(15%)
1. Thematching principle matches: (a) customers with businesses. (b) expenses with

Revenues.

(c) assent with liabilities. (d) creditors with businesses.

2. The Retained Earnings column had a beginning total of $30,000 and an ending
total of $50,000. If $10,000 of dividends were paid during the period, net income

must have been
(a) $20,000.

(b) $40,000. (c) $10,000. (d) $30,000.

3. Omission of aprepaid expense adjusting entry will have the following effects:

Total Assents  Total Expenses Total Stockholders' Equity
(& No Effect Understand Overstated
(b) Overstated Understand Overstated
(c) Overstated No Effect Overstated
(d) Overstated No Effect No Effect




4. Credit terms of 2/10, n/30 meant that
(a) a10% cash discount may be taken if payment is made immediately; a 2%
discount if paid within 30 days.
(b) A 2% cash discount may be taken if payment is made within 10 days of the
invoice date; otherwise the full amount is due at the end of the month.
(c) An additional amount equal to 2% of the invoice price must be paid if
payment is not received within 10 days; the account is overdue after 30 days.
(d) A 2% cash discount may be taken if payment is made within 10 days of the
invoice date; otherwise the full amount is due within 30 days.
5.A debit to Sales Returns and Allowances is evidence of a
(a) saleon account.
(b) Return of goods originally purchased on account.
(c) Return of goods originally sold on account.
(d) Purchase of goods on account
6.When a petty cash fund is use,
(a) an entry must be made to the appropriate expense, asset, etc. Account when a
disbursement is made.
(b) The size of the fund should be such that it can be used to cash employees
bi-monthly payroll checks.
(c) Entries are generally made to Petty Cash only when it isinitially set up or the
stipulated amount of the fund is changed.
(d) An entry is made to Petty Cash when the fund is replenished to its original
amount
7.Pryor Corporation issued 4,000 shares of $10 par value common stock in exchange
for atruck. The truck had afair market value of $75,000. The entry to record this
transaction includes a credit to Paid-in Capital in Excess of Par for
(& $75,000 (b) $20,000 (c) $35,000 (d)$40,000
8.Stanley Company had inventory of $330,000 and $270,000 on December 31, 2002, and
December 31, 2003, respectively. Cost of goods sole for 2003 was $1,800,000. average days
to sell the inventory is approximately
(a) 60.8 (b) 6.0 (c) 54.5 (d) 6.7
9.A periodic inventory system
(a)allows for the determination of cost of goods sold after each sale.
(b)requires aphysical inventory count to determine the cost of goods on head.
(c)requires that detailed inventory records be kept.
(dyrequires the use of a cost of goods sold account.
10.Elite Fashions bought machinery at a cost of $240,000 on January 1, 2002. on
January 1, 2004, they decided to switch from the straight-line to the



double-declining-bal ance method of depreciation. The machinery has no salvage
value and an eight-year useful life. The cumulative effect of this changein
accounting principle before income taxesis

(a) $30,000 (b) $60,000 (c) $105,000 (d) $45,000



